
SO3²⁻        +        MnO4                     →       SO⁻ 4²          +         MnO⁻ 2

+3 -2        +7 -2                                +6  -2                     +4   -2

Ox:          SO3²            +  2OH                  →          SO⁻ ⁻ 4²       +  2e     +  H⁻ ⁻ 2O /*3
Red:      MnO4           +  3e      +2H⁻ ⁻ 2O    →         MnO2   +  4OH⁻ /*2
RedOx:    3(SO3²   +  2OH ) + 2(MnO⁻ ⁻ 4  + 2H⁻ 2O) →  3( SO4²   +  H⁻ 2O) +  2(MnO2 +  4OH )⁻

     3SO3²   +  2MnO⁻ 4    +  H⁻ 2O  →  3SO4²   +  2MnO⁻ 2  +  2OH⁻

AB:

2. stillen Oxidation (Rosten)

2Fe  +   O2    →   FeO
   0   +    0           +2 -2

Ox:    0 → -2  

10.
Ammoniumchlorid reagiert in saurer Lösung mit einer Natriumnitrit Lösung

NH4   +  NaHO⁺ 2   →   N2  +  2H2O  + NaH


